gl = 2 980 = PoLX A9 /K8asug
001 010

ﬂOImOﬁﬁ -+ ﬂOIMﬂQN = ELOZ N T T [TT1T 1 1T 1 T T [TTT T T N
20-3682 -+  10-3212 = [Ao¥] L - + -
20-382'6 -+  €0-300T = HN - % i + L] | :
1-300% sws f T T ﬁ+ | :
10-4S8'2 = ajed OOQW ||_ 1 | I T T B 1 | I ﬂ
A9/ AS1auy A9¥ /ABasuy
001 010 001 o1o
=1 T [TTTT T T 1 T [TTTT T H o [TTTT T T 1 T [TTT T T 3§
3 E 2 :
e,
oy - _
B T (o]
=
" _ o - _
" _ =] = -
) B _
B ] \/) — -
— . ) [ ]
%)
" _ o~ " _
| - (0] | _
i i = L + _
m 1 [i11 001 #_v 1 ______m H_ 1 v 0 1 ______H

c€S069+E¥¥022Ir SXYe Apqq,wuwred 8G00 SI1S0€6

s[enpisay

(A®¥ s)/syuno)




